Addition word problems – Answers 


1. Here you could discuss whether it’s a full week or a school week. Answers would be 96 or 76 respectively. 



2. Ron has 25 marbles. Altogether they have 37. 




3. The first numbers are going up in fives and the second numbers are going down in fives. All of the number sentences are number bonds to 100. 
· 30 + 70 = 100
· 35 + 65 = 100 



4. Asma has written the tens as ones, so she has got the answer wrong. She should have partitioned it like this… 

       45 is made of 40 and 5. 32 is made of 30 and 2. 
· 40 + 30 = 70 
· 5 + 2 = 7
· 70 + 7 = 77

To check she could have used deines, drawn the tens and ones or any other appropriate method. 



5.  There are lots of possible solutions. Here are some examples: 

· 33 + 29 = 62 
· 18 + 65 = 83 
· 12 + 19 = 31 


[bookmark: _GoBack]
